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Practice Test  4. Accounting 2122, Summer 2010.  Name: ____________________________

Chapter 12.  Segment Reporting, etc
autonumout   Kulp Corporation has two major business segments-East and West. In July, the East business segment had sales revenues of $900,000, variable expenses of $441,000, and traceable fixed expenses of $171,000. During the same month, the West business segment had sales revenues of $450,000, variable expenses of $234,000, and traceable fixed expenses of $45,000. The common fixed expenses totaled $321,000 and were allocated as follows: $180,000 to the East business segment and $141,000 to the West business segment.  The contribution margin of the West business segment is: 
	a.
	$108,000
	b.
	$675,000
	c.
	$288,000
	d.
	$216,000
	e.
	Other


autonumout  Continue preceding question. A properly constructed segmented income statement in a contribution format would show that the segment margin of the East business segment is: 
	a.
	$288,000   
	b.
	$279,000    
	c.
	$108,000    
	d.
	$441,000
	e.
	Other


Use this information for the next two questions

The Installation Division of the Signs-of-the-Time Company had the following results for last year:

	Revenue
	  $800,000

	Net income
	    385,000

	Average total assets (net of accumulated depreciation)
	  1,200,000


autonumout 
What is the Division’s return on investment?

	a.
	10.69%
	b.
	3.00%
	c.
	32.08%
	d.
	15.00%


autonumout 
If the required rate of return is 20%, what is the amount of the Division’s residual income?

	a.
	$85,000
	b.
	$145,000
	c.
	$155,000
	d.
	$542,750


-------------

autonumout  Which combination of changes in asset turnover and income as a percentage of sales will maximize the return on investment?

	
	Asset turnover
	Income as a percentage of sales

	a.   
	Increase
	Decrease

	b.   
	Increase
	Increase

	c.
	Decrease
	Increase

	d.
	Decrease
	Decrease


autonumout You are given the following information for a company's first year of operations.
	Balance Sheet 12-31-2010 ($000)
	Income Statement-2010 ($000)

	Cash
	$220
	
	Revenue
	
	$800

	Accounts Receivable
	200
	
	Expenses
	
	

	Prepaid Expense
	80
	
	  Salary expense
	$430
	

	Current Assets
	
	$500
	  Depreciation expense
	100
	

	Property & equipment
	400
	
	  Interest expense
	30
	

	Accumulated Depreciation
	(100)
	300
	   Other expense
	140
	$700

	Total Assets
	
	$800
	Net Income before taxes
	
	$100

	Income tax payable
	$40
	
	Income tax
	
	40

	Bonds Payable (10%)
	300
	
	Net income after taxes
	
	$60

	Total Debt
	
	$340
	Beginning Retained Earnings
	
	$0

	Common Stock
	410
	
	  Net Income
	
	60

	Retained Earnings
	50
	
	  Subtotal
	
	(60)

	Total owner equity
	
	460
	  Dividends
	
	(10)

	Debt & equity
	
	$800
	Ending Retained Earnings
	
	$50


What is ROI for 2010?  Use EBIT as explained in your textbook.
You may use the ending balance sheet balances, since this is the first year of operations.

	a.
	16.25%
	b.
	20%
	c.
	25%
	d.
	30%
	e.
	Other


autonumout  Use information in preceding question.

Assuming a 12% cost of capital, what is residual income?

	a.
	$50
	b.
	$34
	c.
	$16
	d.
	$54
	e.
	Other


autonumout  A part for a radio being produced by Car Audio Systems is being purchased at present for $85 per 100 parts.  Management is studying the possibility of manufacturing these parts.  Cost and production data would be as follows: Annual production (usage) is 50,000 units. Fixed costs would remain unchanged whether 
the part is purchased or manufactured.

	Fixed Costs
	$18,000
	$.36 per unit

	Variable costs:  
	Materials 
	$.45 per unit

	                 
	Labor     
	$.42 per unit

	                 
	Overhead  
	$.21 per unit


Should the company purchase or make the part?

a. Purchase the part      b. Make the part
autonumout  In deciding whether to replace or keep existing equipment, which of these items is (are) relevant?

	a
	Book value of old equipment
	c
	Original cost of old equipment

	b
	Cost of new equipment
	d
	All of these


autonumout  Local Co. plans to discontinue a department with a $50,000 contribution to overhead of $100,000, of which $60,000 cannot be eliminated.  What would be the effect of this discontinuance on Local's pretax profit?

	a. 
	Increase of $8,000.
	b.
	Decrease of $10,000.

	c.
	Decrease of $60,000
	d.
	Decrease of $50,000

	e.
	Increase of $10,000
	
	


autonumout  Waxhaw Company's regular selling price for its product is $10 per unit.  Variable costs are $6 per unit.  Fixed costs total $1 per unit based on 100,000 units, and remain unchanged within the relevant range of 50,000 units to total capacity of 200,000 units.  After sales of 80,000 units were projected for the year, a special order was received for an additional 10,000 units.  To increase its operating income by $40,000 this year, what price per unit should Waxhaw charge for this special order?

a. $7       b. $8       c. $9      d. $10  
autonumout  The manufacturing capacity of Concord Company's facilities is 30,000 units a year. 
Operating results for the year is budgeted as follows (before considering a special order):

	Sales (18,000 units @ $100) 
	$1,800,000

	Variable mfg. and selling costs
	    990,000

	Contribution margin      
	    810,000  

	Fixed costs    
	    495,000

	Operating income     
	 $ 315,000


A foreign distributor has offered to buy 15,000 units at $60 per unit during the year. If Concord accepted this offer and rejected some business from regular customers so as not to exceed capacity, what would be the total operating income for the year?

a. $405,000           b. $705,000             c. $255,000        d. $840,000   e. None of these
autonumout  In a process that produces two products, which of the following costs is relevant in determining whether a product should be sold at the point of split-off of processed further?

a. Joint Costs      b. Costs to be incurred after split-off      c. Both

autonumout  Raleigh manufactures products X, Y, and Z from a joint process, with joint costs of $60,000.

	 
	 
	 
	Sales Value and Additional

	 
	 
	Sales Value
	Costs If Processed Further

	Product
	Units Produced
	at split-off
	Sales values
	Added Costs

	X
	6,000
	$40,000 
	$55,000 
	$10,000 

	Y
	4,000
	35,000
	50,000
	7,000

	Z
	2,000
	25,000
	29,000
	5,000


Which product should be sold at split-off?

a. Z      b. Y     c. X     d. none of the products

autonumout   On January 1, 2010, Cooper bought a building for $1,000,000.  Cooper does not make a down payment. The purchase agreement requires Cooper to pay $125,000 on December 31 of each year, starting on December 31, 2010.  The agreement provides that each payment will include interest at the rate of 10% compounded annually, and a principal payment. 
How many annual payments (approximate) will be required to pay off this debt?

	a.
	12
	b.
	13
	c.
	15
	d.
	17
	e.
	19


autonumout  Ciraulo recently acquired a machine at a cost of $64,000.  It will be depreciated on a straight-line basis over eight years with no estimated salvage value.  Ciraulo estimates that this machine will produce an annual net cash inflow (before income taxes) of $18,000.  Assuming an income tax rate of 50%, what is the approximate payback period?

	a.
	3.6 years
	b.
	4.92 years
	c.
	7.1 years  
	d.
	12.8 years
	e.
	Other


autonumout  The Apple Company is evaluating a capital budgeting proposal for the current year.  The initial investment would be $30,000.  It would be depreciated on a straight-line basis over six years with no salvage value.   The before tax annual cash flow due to this investment is $12,000, and the income tax rate is 40% paid in the same year as incurred.  The desired rate of return is 15%.  All cash flows occur at the end of the year.  What is the after-tax accounting rate of return?

	a.
	14%
	b.
	16-2/3%
	c.
	26-2/3%
	d.
	33-1/3%
	e.
	10%


autonumout  On January 1, Waxhaw Inc. purchased for $500,000 a new machine with a useful life of eight years and no salvage value. The machine will be depreciated using the straight-line method and it is expected to produce annual cash flow from operations, net of income taxes, of $100,000. Assuming that Waxhaw uses a time adjusted rate of return of 8% what is the net present value?

	a.
	$ 36,680
	b.
	54,664
	c.
	$12,490  
	d.
	$71,000
	e.
	$74,664


autonumout  Neu Co. is considering the purchase of an investment that has a negative net present value based on Neu’s 12% hurdle rate. The internal rate of return would be

	a.
	0  
	b.
	12%
	c.
	>12%       
	d.
	<12%
	e.
	Other


Items 20 through 23 are based on the following:

Ram Co. is negotiating for the purchase of equipment that would cost $100,000, with the expectation that $25,000 per year could be saved in after‑tax cash costs if the equipment were acquired. The equip​ment's estimated useful life is 10 years, with no resid​ual value, and would be depreciated by the straight-​line method. Ram's cost of capital is 12%. You need copy of interest tables for  this problem.
autonumout   The net present value is 

	a.
	 $ 41,255          
	b.
	  $ 6,440      
	c.
	$12,200            
	d.
	$13,000  
	e.
	Other
	


autonumout   The payback period is:
	a. 
	4.0 years.          
	b.
	4.4 years.        
	c.
	4.5 years.            
	d.
	5.0 years  
	e.
	Other
	


autonumout   The accrual accounting rate of return based on initial investment is:
	a.
	20%             
	b.
	15%          
	c. 
	12%             
	d.
	10%  
	e.
	Other
	


autonumout   In estimating the internal rate of return, the fac​tors in the table of present values of an annuity should be taken from the columns closest to the following multiple. 

	a.
	0.65            
	b.
	4.00         
	c.
	5.00            
	d.
	  5.65
	e.
	Other
	


autonumout    Scott is considering investing $140,000 in ten year project.  Scott estimates that the annual cash inflow, net of income taxes, from this project will be $20,000. Scott's desired rate of return on investment of this type is 10%. Information on present value factors is as follows:


	
	At 10%
	At 12%

	  P V of $1 for ten periods 
	0.368
	0.322

	  P V of an annuity of $1 for ten periods
	6.145
	5.650


Scott's expected rate of return on this investment is:

	a.
	Less than 10%, but more than 0%        
	b.
	10%.   
	

	c.
	Less than 12%, but more than 10%.     
	d.
	12%.     

	e.
	More than 12%
	
	


autonumout  Would you rather have:

	a.
	a good grade
	b
	a broken leg
	c.
	the flu


I wish you a very happy and successful academic career and a very happy and successful professional career after college.
